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CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. 	(a) Write the structural formulae of any two of 	2 

the following compounds : 

(i) Hexanedioic acid 

(ii) Propenoic acid 

(iii) 2-aminoethanol 

(b) Write the IUPAC names of any two of the 	2 
following compounds : 

(i) CH3 CH2 CH2 COOCH3 

(ii) (CH3)2  CH - C - C -CH3  

(iii) Cl CH2  CHI - CH2  - CH2  - CH (CH3) 

CH2  Br 
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(c) Assign E or Z configuration to any two of 	2 

the following compbunds : 

CH3 	CH3  
C=C 

Br 

01-IC 	/ OH 

	

(ii) 	C=C 
HO 	Cl 

Br 	CH,Br - 

	

) 	/C=C \ 
Cl 	CII3  

(d) Draw the three conformations of 3 

cyclohexane. Why is chair conformation the 

most stable ? 

OR 

Write all the possible structural isomers 

having molecular formula C4H100. 

(e) Arrange the following compounds in 	3 
increasing order of their acidities 

CH3  NO2, GI (N0,7)3, C1-12  (NO2)2  

OR 

Intermolecular hydrogen bonding increases 

the boiling point and is also responsible for 

higher water solubility of compound. 

Why ? 
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2. 	(a) Discuss the mechanism of Hydroboration. 	2 

Explain with one suitable example. 

OR 

How would you convert the following ? 

(i) CH2 — CH2  

CH2  

 

	 CH3  CH2  CH?  Br 

 

(ii) CH2 = CH — CH2Br —> ? —> 

CH3(CH2)4  CH3  

(b) How can propene be selectively converted 	2 

into (attempt any two) : 

(i) 1, 2 - dibromopropane 

(ii) 1-propanol 

(iii) 2-propanol 

(c) Discuss the mechanism of Friedel-Crafts 	3 

alkylation. Why aryl halides and alkenyl 

halides are not used in Friedel Craft 

reaction ? Give reasons. 

OR 

Discuss the mechanism of electrophilic 

substitution. 

(d) Predict the major and minor products of the 	3 
following (attempt any two) : 

(i) Nitration of nitrobenzene 

(ii) Chlorination of phenol 

(iii) Bromination of nitrobenzene 
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(e) Arrange the following compounds in their 	2 
increasing order of basic strength : 

(i) Pyridine 	(ii) pyrrole 

(iii) methylamine 

OR 

Why is pyridine less basic than 

methylamine ? Give one electrophilic 
reaction of pyridine. 

3. 	Attempt any four parts : 	 3x4=12 

(a) Compare the relative rates of SN2 reactions 
of allyl chloride and 1-chloropropane. 

(b) What is the product formed when methyl 

magnesium bromide is treated with acetone 

followed by hydrolysis with dilute acid ? 

(c) Explain why alcohols behave both as an 

acid as well as a base while phenols are 
distinctly acidic only. 

(d) Write the mechanism for the reaction of 3, 

3-dimethy1-2-butanol with HBr. 

(e) 	Complete the following reactions : 

(i) C2H5SH  Iz ) 

(ii) (CH3)2S F-1701-1-1+  
298 K 

(f) 
	

What is Aldol condensation ? Discuss with 
one suitable example. 
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4. 	(a) Discuss how the following conversions can 	3 

be carried out ? 

(i) carboxylic acid into an amide 

(ii) benzenesulphonic acid into phenol 

OR 

What is ninhydrin test ? Give one of its 

applications. 

(b) What are the expected product (s) of the 	2 

reaction between ethyl benzoate and the 

following reagents (attempt any two) ? 

(i) Li Al H4  

(ii) CH3  CH2  MgBr 

(iii) aqueous NH3  and heat. 

(c) Give an account how Hinsberg test can be 	3 

used to distinguish between primary, 

secondary and tertiary amines. 

(d) Write a short note on any two of the 	4 

following : 

(i) Hofmann rearrangement 

(ii) Curtius rearrangement 

(iii) Carbylamine reaction 

(e) 	Write the structure of cholesterol. Give its 	2 

importance. 

OR 

What are the various components of nucleic 

acids ? 
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fa-gra •k--1 I ci 	 ) 

	ict Li T 

1, 2013 

	f-d7F 

71T7 : 2 •Wzr-- 
	 3-TrErcFffq 3 	50 

F1-9-ft i 37T-i 	3-t77-  qlrut 

1. 	(a) 	F-1 4--ifT4-F-Tfr fT 
	

2 

fff-nrg7 : 

(i)  

(ii)  

(iii)  

(b) -r-TL-9-f- fu IT fw -T -Tftf-fri 

-114 	: 

(i) CI -13  CH2  CI-12  COOCII,  

(ii) (CH3)2  CI-I - C C - CI-13  

(iii) Cl C11-2  CHI - CH7  - CH2 -- C1-I (013) 

CH2  Br 
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(c) -f-1=9-fclf-d-U 	 E 1T Z 	2 

31-5 -T-L--4,4R4 	: 

(i) = c 
Br- 

OHC 	OH 

	

\ 	/ 
(ii) 	C=C 

	

 / 	\ 
HO 	Cl 

Br 	CH2Br 
C=C N 

Cl 	CH3  

(d) TIT- ci-c-1.1tT41. -4) cif 	 311 -tiff 	3 

-11':* Vt 	T-21-rt qz1 

-eldft? 

TIT 

-40 Trift 	W-ci -1 I t-1 4-11c1Q C41-110° 

fffftJ7 I 

(e) fiT,Lirc7rtiff zfrri cb 	 t -4 wq 	3 

: 
CI 13 NO2, CI -I (NO2)3, CI-12 (NO2)2 

-Err 

3f-d-u37-1-T- 	3i-r-4g-i 74 	2 fw 1cT t 
	 TrrfirT 	Ad 	f-4 .4-ar 	rcvN 5-ft 

	 t TE4? 
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2. 	(a) 	t61,s,Ilti-1-f t rsbqlrci 	ch 	T1f--A71 t&cb 	2 

druct 	 gRI Tq4-  cqRScil .4-r---$7 I 

3TTET 	d 	 4R0I cf 	? 

(i) CH2

\

-  CH 2 

CH2 

 

	►  CH3  CH2  CH2  Br 

 

(ii) 	 CH2Br --> ? ---> 

CH3(CH2)4  CH3  

(b) -911#9. 	atuliolchcf: 	rod 	fT1:1 3-*-17 	2 

	femur 	t (rW-4: 	,37R 

\TR) ? 

(i) 	1, 2 - 

1-'51)-katO" 

(c) ThttF-9111-1 	 cb`l rnqlfai ch r 	3 

---1F—A7 I '0*c.i 	-tf-----97@rl l 	s sl 4;1 

Thlt-7-.TT91 31141f4T 14 -37/trrf qz4 161 fwm 

	? *Rut cic1151 

3f-dT-211117 fsn 	 a~1  

I 
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3 

.14 cl-) 4-1UrtTqqt (“8 -1 

3x4=12 

qg9.  #it 31-F4 Tri c lf*i 

3. 1-1-Frn' 	q11-,R : 

(a)  3-11T 	1 	 .17139 S2 

31-Fum-RTTA cbl 3Trkikr 	q4 --1F--A7 

(b)  4=11-4- 	4111-1-0-  4,1 -Trrq 

(c)  

31-firrwqr zic1-3T1  

f 	Tr \311c-11 t 	'TT( 	-,;rwr t? 

oqRsif 

31-firrwzrr 

3-1-Tffl-zr 
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(d) 3,3---17-Af2-M -2- 	HBr 	TIRT 

3-fif-*zu .1;1 	Ira rq 

(e) r-14--Irrirtgcf 3Trlf-*-Trr4 c 	1f 	: 

(i) 	C2H5SH  12 > 

H20+H+  
(CH3)2S  298 K 

(f) .44-1.-1 Tit 	t? 	31 	1d 	 5R1 

4. 	(a) 	-c{-cli   3171 f14-1 rtgcf LIFO 	f*-71 	3 

1;1TR 	? 

(i) *101 f cl-H f Oa, 31r 

(ii) 	  3 cl-)1 Tfitat 

Trf 

-1-111 4t1 	rqzET 	 TT' f 

sici 	 I 

(b) -7r2.4-(71 

	

	 orod 	 wzT 2 

3c44K 1;fni g4 ( 

(i) Li Al H4  

(ii) CH3  CH2  MgBr 

(iii) 	NH3  3Th{ J144 

(c) 	t-q-44 	31.9-1, f 	rm 64),& 1--d-Th-T 	3 

tfi---4i -4-q i;F*-RR f T mil Achc-11 
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(d) 	F-1 4-1R-1F{Jd 	 yt4N-117f f rU1 fffr-T5-  : 	4 

(e) r f-74-w I 	It 	2 

'q-J1-7 I 

7Tr 

? 
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